Bronze

1a. Match the calculation to the correct 1b. 18 is the sum of two square numbers.
arrays. ]
) [ 18 = 32 + 32
52 72 22 —
(5 x 5) (7x7) 2x2) 18=(3x3)+(3x3)
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Uzing the example above, complete the
following:
45 is the s:um of 32 and which other square
number?

45=(3x3)+(?x7?) )

¢ -= 3
= <
2a. Caleulate: ‘L?I" 45 mEE v T ) P2

2b Solve the following problem.

3832 )
0000 | think of @ number. | square it and
2000 add 15. My answer is 40.
'{E}' 42= g*= What was my number?
3a. Find the factors of the number S
represented below. Is it a square Use the array below to help you.
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3b. Frankie says,
~
TE? | can use this array to
2
4a. Complete the table below. calcuiate 5.
P A
72 Ofoy -

0000000000
5 i ©0000000000

o

Is Frankie correct? Convince me.
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5a. Match the square numbers: to the
correct representations.

=) () (7]
(28]

-
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i
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SO00008
$66

2R
B0
20200
20220
DO
2020200

éa. Complete the number statements.

000880
o000 00
» 9000009

&N e

db. 2% is the sum of two square numbers.

[ 29 =52+ 22 ]

Uzing the example above, complete the
following:

8% is the sum of two squared numbers.
What could they be?

193 iz the sum of two squared numbers.
What could they be?

M

1 .

7a. Find the factors of each number
below. Circle the square number.

Q000
Q000
0000

W

5b Solve the following problem:s.
4 )
| think of a number. | square it and

add 11. My answer is 2.
What wa: my number?

e oy
- ™
| think of another number. | square it

and subtract 14. My answer is 107.
What was my number?

. vy

¢

8a. Complete the table below.

2 2x2 4

4x4

112 X

éb. Laura says,

To square a number, you
add the number twice. For
example, 22 means 2 + 2

hich is 4.
which is y

Is Lavura correct? Convince me.
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2?a. Mateh the caleulations to the correct
square numbers.

nine ten eight
squared squared squared

one . o eighty-
hundred sixty-four one
10a. Calculate:
Three squared = _x__ =81

7b. 14% iz the sum of 2 squared numbers.

i ™

149 =102+ 72

2 squared numbers are added together to
make an even number between 50 and
100. What could they be?

3 squared numbers are added together to
make an odd number between 150 and
200. What could they be?

_ X __ =25

Two squared =

11a. Find the factors of each number
below. Circle the square numbers.

[ thirty-six |

[ sixty-four ]

8b. Solve the following problems.
4 N

| think of @ number. | square it, add 15
and times by 5. My answer is 255.
What was my number?

‘. vy
4 R
| think of another number. | square it,
subtract15 and then add 25. My

answer iz 131. What wa: my number?

e vy

12a. Complete the table below.

2 X 144

49

&4

7b. Lin says,

When | add an odd square
number to another odd
square number, the answer
iz always even.

vy

4

Is Lin correct? Convince me.




Challenge

1. International spy Jane Band is trying to crack the code to unlock the door s0 she

can escape the room the evil Dr Foul has trapped her in!

She has found some clues written on the wall:

* The sum of all the
« Two of the numbers in

«  All of the numbers are

\ odd.

/ The code is made up uf\\

3 numbers.

numbers in the code is
a square number.

the code are square
numbers.

/

Explore the possible combination of numbers the code could be.

2. Arrange the loop cards so that each calculation is matched to the comrect answer.

Fill in the missing card to complete the loop.

The Y ( The g )

9 | ¥ [[119] %" || 100 |&-
32 )L and 22 \ J
The 1 ( g )

total of 2 2

244 72 and 25 122 -5 _=‘T21_
72 7\ "'h o

‘I ‘I 102 + 122 ‘I 30 di;?d}d 48 82 x 32

Y




